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31-When I was a little boy, we ... three Kitties which were very cute and lovely.

1) were having 2) had

3) are having 4) have

32-Last night at 2 o’clock, when everyone ..., some people were destroying the jungle.

1) was sleeping 2) sleep

3) were sleeping 4) sleeps

33-He has good ideas and strong feelings, but he finds it hard to ... himself.

1) behave 2) respect

3) relate 4) express

34-The city’s ... weather and welcoming people have always been a comfort to pilgrims as they

come to the end of their journey.
1) hospitable 2) generous

3) probable 4) changeable

It happened last August at the airport. A few weeks before, a group of us had decided to go to Greece
together. We were waiting in the line at passport control when ...(35)... I realized that I had forgotten
my passport and phone. It was quite a shock. I hurried to a payphone and rang my parents. They were
working in the garden, but luckily my mother heard the phone. They found the passport and phone and
immediately drove to the airport. I met them at the ...(36)... desk. We had no time to talk, but I had
said goodbye to them earlier that morning. I ran all the way to the plane. I was just in time. When I got
there, the passengers ...(37)... on their seats ready for take-off. When they saw me, everyone started

clapping.
35- 1) especially 2) suddenly
36- 1) situation 2) destination

37- 1) sat 2) are going to sit

3) strongly 4) possibly
3) attraction 4) information
3) were sitting 4) are sitting



PART C: Reading Comprehensi'on

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

Tourism is one of the biggest businesses in the world. There are nearly 800 million international
tourists every year. It hires one in fifteen of all workers worldwide from airport cleaners to zookeepers,
and includes restaurant staff, flight attendants and tour guides. This fast-growing business is actually a
huge part of the economy of many countries.

In recent years we have seen the growth of the Internet and globalization, making the world seem a
smaller but very fascinating place. The tourism industry grows faster and faster each year. But what are
the challenges today? The tourism industry is affected by many different things such as international
events, economic changes, civil wars and new trends. Although new worries appear every year, tourism
survives. It is a powerful and sometimes dangerous force in the modern world. Tourism creates many
good jobs and careers, but it also produces many poor and badly paid jobs. Tourism can help to protect
the environment and animal life, but it can also damage them. Tourism can save cultures and the local
way of life, but it can also destroy them. In other words, tourism can change countries and people for the
better, but it can also change them for the worse.

38-What is the best title for the passage?
1) The Effect of Tourism on Environmental Protection  2) Tourism, a New Vision for Jobseekers

3) New Worries about the Future of Tourism 4) Tourism Today, Facts and Difficulties
39-The underlined word “fascinating” in the second paragraph is closest in meaning to ... .
1) boring 2) dangerous 3) attractive 4) expensive
40- According to the passage, which of the following statements is NOT among the effects of tourism?
1) Tourism makes the world seem smaller 2) Tourism helps to protect animal life
3) Tourism produces many badly paid jobs 4) Tourism can damage the environment
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